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it : BRREH X 22H it : 28 X HIGZ
B - AR 7 B R 7 : HEkS
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo x 5Hx -1 100 [£3] 5Sx -1 -100 5
2 2] ¢ Jris] 3NT = -400 x 3NT = -400
3 panyiic] 1t INT -1 -50 [£3] 3NT -3 -150 3
4 |\ db 4H | +2 | 680 it 4H | +1 | 650 1
5 2] ¢ Jris] 3NT +3 -490 x 5D +1 -420 2
6 panyiic] x 5C = -600 x 3NT -5 500 15
7 =] [£3] 3H -1 -100 5| 2NT -2 -200 3
8 NTo [£3] 3NT -1 -50 [£3] 3NT = 400 10
9 panyiic] [£3] 2H +1 140 x 2S = -110 6
10 | B x 4Hx = -790 x 4H -1 100 13
11 | XN Jri] 6S = -980 x 4S +2 -480 11
12 | @it x INT = -90 x 3D = -110 1
DATUM& it L
[E3f23aIba) JEIETEIRR r. 3+ 19 | 51
BRBEE /e ERE RREX/MADLT ait 19 | 51
BH{S37/htEk% ZH/EE V.P. 2.29 | 17.71
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1t : FELT R BUAR 1t : FPLTRR K tHEE
B DB 7 : BRIB&E [EZI 7g . 2B
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo R INT -1 50 [ri] INTx | +1 -280 8
2 2] R 2S = -110 [£3] 2NT -2 -200 3
3 panyiic] 1t 3NT +1 430 1t 3NT +1 430
4 =] [£3] 3NT = 600 [£3] INT = 90 11
5 2] ¢ [£3] 4Sx -2 -500 [£3] 3S -1 -100 9
6 panyiic] 1t INT +3 180 1t 3NT = 400 6
7 =] Jris] 2NT -2 200 [ri] 2NT -2 200
8 NTo [£3] 3NT +3 490 [£3] 3NT +3 490
9 panyiic] Jris] 3NT = -600 [ri] 3NT +1 -630 1
10 | B Jris] 4H +1 -650 [ri] 4H +1 -650
11 | XN 1t 3NT +1 430 5| 3NT = 400 1
12 | @it 1t 2S +2 170 [£3] 3D = 110 2
DATUM%it iBE
RS FHIEE 5 26 | 15
EWELT /1R, LT R’/ RAR ait 26 | 15
REFETEZSTIN BARK/BRE & V.P. 13.45 | 6.55
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it : sKEAE R FEE 1t : PRERLT IR : ABERE
B2z 7 : BTk 4 : {B{ZEH 7 BT
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 |wk|l & [ aNT | = | 400| % | aNT | 2 | 100 | 9 | 11
2 |mdtl = | eH | = | 980 ]| ® | 7sx | 5 |-1400] o
3 |mm| &/ | aNT| 2| 200 7 | anT | -2 | 200 | 3
a |wal 46 | sNT | -4 | 400 | B |3NTX| 2 | 500 | 3
5 |mit|l & | ec | = | 920 | & | 3NT | +3 | -490 10
6 |mAm| 4t | 3ox | +1 | s70 | ® | 5¢ | 2 | 200 | o
7 |wmal & | a1 | = | 620 ® | 4 | = | -620
8 |wxl| m | 2¢ | +1 | -120| ® | INT | +1 | -120
o |mAm| = | 4D | +2 | -a70| & | s5H | -2 | 200 9
10 | \WE LL PAS LL PAS
11 | WE LL PAS LL PAS
12 | &gdk LL PAS LL PAS
DATUM&it ik -9
IR BEHNER r: ] 33 | 30
SRR/ BaRERLT/{B1EER ait 33 | 30
XBERER/ZRERTE SR/ BNTR V.P. 13.71 | 6.29
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it : EBE R =i b | A S R BB
ERE 7 H5E B : {AlEE) 7 BRE
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo [£3] 3Dx -2 -300 x 1H = -80 6
2 2] ¢ x 1S +3 -170 x 3SNT -1 50 6
3 panyiic] [£3] 3H = 140 [£3] 4HXx -1 -100 6
4 =] [£3] 4S -1 -100 1t 4S -1 -100
5 2] ¢ x 2S = -110 x 4S = -420 7
6 panyiic] Jri] 4S -2 200 [ri] 5Dx -3 800 12
7 =] 1t 4H -3 -300 5| 3NT -100 5
8 NTo [£3] 3NT -2 -100 [£3] 3SNT +1 430 11
9 panyiic] Jris] 3D +1 -130 [£3] 3HXx -3 -500 9
10 | B Jris] 4S +1 -650 x 3SNT +1 -630 1
11 | XN 1t 4S = 420 5| 4S = 420
12 | @it 1t 3NT -1 -100 [£3] 3NT = 600 12
DATUM& it L
ERisiEx I MHEi%E Y. 5+ 22 | 53
ENEE/ABRES WRIT R/ EE) ait 22 | 53
B/ PREE SR/ EHE V.P. 2.44 | 17.56
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[EZ - 7av)" 74 : 250t B {AIEER 7 EEE
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo [£3] 4Sx -3 -500 x 3H = -140 8
2 2] ¢ [£3] INT +2 150 [£3] 4S -4 -400 11
3 panyiic] Jris] 5D -1 100 [£3] 4S -100 5
4 =] R 3NT -2 200 [ri] 2D +3 -150 8
5 2] ¢ R 3NT -1 50 [ri] 2Cxx -2 600 11
6 panyiic] R 4S = -620 x 4S = -620
7 =] 1t 7H = 2210 1t 7H = 2210
8 NTo 1t 2C -1 -50 x 2H = -110 2
9 panyiic] [£3] 6D +1 940 1t 4S +2 480 10
10 | \WB R 3NT = -600 x 3NT +1 -630 1
11 | XN Jris] 2S +1 -140 [ri] 2S +1 -140
12 | @it Jris] 2H -2 100 [£3] 2H -1 -100 5
DATUM%it iBE
RUES BT r: 3+ ] 42 | 19
B 55 /K FEm/MEE ait a2 | 19
IS /MEEE (A= 2%/ Z=0th V.P. 16.18 | 3.82
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B XU 78 X A JCHEEN 7A : SER
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo Jris] 3NT = -400 [ri] 3NT = -400
2 2] ¢ x 4S -1 50 x 3S = -140 5
3 panyiic] Jri] 3NT -1 100 [ri] 2NT -1 100
4 =] Jris] 3SNT +2 -660 [ri] 3SNT +2 -660
5 2] ¢ Jris] 2NT +3 -210 [ri] 3SNT +2 -460 6
6 panyiic] [£3] 2D +2 130 [£3] 2D +2 130
7 =] [£3] 3SNT +1 630 1t 3SNT +1 630
8 NTo x 3NT 100 5| 4HXx -2 -300 9
9 panyiic] 1t 4Sx -5 -1100 [ri] 7H = -2210 15
10 | B Jris] INT +1 -120 [ri] INTX | +3 -780 12
11 | XN [£3] 3NTXx -1 -100 [£3] 3NT = 400 11
12 | @it [£3] 3NT -2 -200 x 4HXx -1 100 7
DATUM& it L
I~ HETHR RIEIZH Y. 5+ 47 18
SR/ RS =/ LN Aait 47 18
XA/ SEE R, YZE/EXER V.P. 17.24 | 2.76
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it : BKfE i DERE | Ay (5 R . BER
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x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo x 5Hx = -650 x 6H -1 50 12
2 2] ¢ 1t 3NT = 600 5| INT +1 120 10
3 panyiic] Jris] 2S = -110 [ri] 2S = -110
4 =] [£3] 4H +1 650 [£3] 4H = 620 1
5 2] d Jri] 3NT -1 50 x 3NT -3 150 3
6 panyiic] [£3] 3S = 140 [£3] 2S +1 140
7 =] [£3] 3NT = 600 [£3] 2NT = 120 10
8 NTo Jris] 4S +1 -450 [ri] 4S +2 -480 1
9 panyiic] x 5C = -600 x 5C +1 -620 1
10 | B 1t 4S +3 710 5| 5S -1 -100 13
11 | XN [£3] 3NT = 400 [£3] 3NT = 400
12 | @it [£3] 2S -1 -100 x 3D -2 100 5
DATUM& it L

I~ ERT FEFOPA Y. 5+ 36 | 20
EIKIE /S5 pdr:TEN ait 36 | 20
BRI/ 22T V.P. 14.7 | 5.3
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1t : 3KERD K %KiE 1t : PRHHE K R
BT g EF B . P 7 XE
x| mn| ER | m |eR | me | B | w2 | sR | wee| 20| T
NTo x 3H -1 50 x 4H -2 100 2
2] ¢ [£3] 25X -4 -1100 [ri] 3SNT = -400 12
Al 4t 6C -1 -50 it 3NT = 400 10

W & 4H +1 | -650 R 4H +2 | -680 1

5S -1 -100 it 6SX -2 -500 9

Olow[(N]JO|JO|A[W]|IN]PF
&
cv
AL
cv

KA dt 6NT | +1 | 1020 it INT = 1520 11
gl & 2S -4 400 3] 2H -1 -100 11
Wil B 3H = 140 3] 4H -1 -50 5
KAl & 5H = -650 R 5SH -1 100 13

10 | B R INT +1 -120 x 2NT +1 -150 1
11 | XN R 5Dx -1 100 x 6S -1 50 2
12 | @it R 5H = -450 [ri] 4H +1 -450
DATUM%it iBE
FRERE HiESPARK P S ] 29 48
KSR/ BT NS TR E Ky ait 29 | 48

TREF/XUNE, RRE/ T V.P. 4.63 | 15.37
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ITp— " - = T Tw P
Fg : ZRBHED 7 : BEie A . D& iR ==
x| mn| ER | m |en | me | B | 2w | g8 | wee| 2|
1 NTo [£3] 3NT -1 -50 it 4S +1 450 11
2 2] ¢ 1t 6C +1 1390 it 6D = 1370 1
3 panyiic] 1t 3NT -1 -50 it 2D -1 -50
4 =] [£3] 4H +1 650 [£3] 4H +1 650
5 2] ¢ [£3] 2S +1 140 [£3] 4S = 620 10
6 panyiic] [£3] 3NT -2 -100 [ri] 3H = -140 1
7 =] [£3] 4H +1 650 [£3] 4H +1 650
8 NTo x 4HXx = -590 x 4HXx -2 300 13
9 panyiic] x 4H +1 -650 [ri] 4H +1 -650
10 | B Jris] 5S = -650 it 5Hx -800 4
11 | XN [£3] 4Dx -2 -300 [£3] 4Dx -500 5
12 | @it Jris] 6D -1 50 x 6NT = -990 14
DATUM& it L
SKYPBA ZZRkPA Y. 5+ 25 | 34
¥5edE/Z=BHED TR/ SZE Aait 25 | 34
TER/EZE =GRS, V.P. 71 | 12.9
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x| mn| BR | m |en | me | B | 2 | g8 | e 2|
1 NTo 1t INTX -1 -100 [£3] 3NT -1 -50 2
2 2] ¢ x 3SNT +1 -430 x 3SNT +2 -460 1
3 panyiic] 1t INT +2 150 it 2D +2 130 1
4 =] [£3] 3NT = 600 [£3] INT +3 180 9
5 2] ¢ x 6S = -980 x 4S +2 -480 11
6 panyiic] [£3] 4H +1 450 [£3] 4H = 420 1
7 =] x 4Sx -1 200 [ri] 3NT -1 100 3
8 NTo 1t 3SNT +2 460 it 3SNT +2 460
9 panyiic] Jris] 4S = -620 [ri] 4S = -620
10 | \WB 1t 1S +1 110 [ri] 2H -2 200 3
11 | XN x 4H +1 -450 x 3SNT -2 100 11
12 | @it 1t 3NT -1 -100 it 4S +1 650 13
DATUM& it L
RS FEAKFPA Y. 5+ 15 | 40
FE/(OFR )RR/ MIKIE Aait 15 | 40
FEUV/ET 2 GRS/ = EE V.P. 3.45 | 16.55
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FREKEEIA SRR SRAHTE EIA IREKEEIA
it © XUBY 7 I it - AT 7R ;IR
B EE 7g : =8 m . ZE 7 : It5RtE
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo Jris] 3S -2 100 [ri] 3S = -140 6
2 2] ¢ x 4H -1 50 x 3NT 50
3 panyiic] [£3] 4S -2 -100 [£3] 4Sx -3 -500 9
4 =] Jris] 4H +1 -650 x 4H +1 -650
5 2] ¢ [£3] 3NT +2 660 1t 3NT +1 630 1
6 panyiic] x 2D +1 -110 [ri] 1HX -1 200 7
7 =] [£3] 3S -2 -200 [ri] 4H -1 100 7
8 NTo x 6H = -980 [ri] 4H +2 -480 11
9 panyiic] [£3] 2S = 110 [£3] 2S -2 -100 5
10 | B Jri] 3NT -1 100 x 3NT +3 -690 13
11 | XN [£3] INT +5 240 [£3] 2NT = 120 3
12 | @it [£3] 3H = 140 [£3] 3H = 140
DATUM&it L
I iREREEPA iR EERA r. 3+ 37 | 25
XURZ/ E 2 X|n]/Z=%2 ait 37 | 25
%/ Pl v.p. |is7i] 62
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